CCD - Charge-Couple Device

TINX M0DIN0 'K JWNN 121 7Y MUPT7XI0IZ XN 737W 132 X0INN 77200 .0IWTN 7W N1 0X19I0 01100 2-N TNX
77 ,NN1 ANINN N1J'X 1"2YN XA .AD 1'nN7 NN2VINI NJOXI AXMPN OW1 WTNN TTX7 0UN0P7KN 01T DK VN X7X
NN 100N JWTN N7'30 D70 10TN NIN7XNN 2N 0190 X oy CMOS jwnn 100 19 Ty NAIXK N1 7711 X7 ne

CMOS

N NN XN N7WIA NXT NMAI71330 0V 0'07P 11X 109 121 7V INIK X7 [NW [I11I01 0WNnT 03w 1IN n7nNna
OMINKW 031019 137 ,Jwn 737 O'TINX 010010 1900 7'3n CMOS nw x1n CCD-n nniv7 Mpun 71200 J1Xm7 71t
NNAaN Wyl N n2n onxr CMOSh 3w n it na'on "T1Ia'K7 0137101 110071102 010 MOP7KI019 KN V1197

WYl NX N'NINT7 XIN OT'Ponw O'pin 011N 1NN'9 NINTMon

AN AXMP NI NN ,NTh A'ant 0019

‘70p'9

TV 197XN N2 AIINN 73 . NIX, 0NN ,ompn 7WNM 10PN ,‘J'7nn NJINN] ATIPI MIXKNNA, NI VTN NT'A X'
NILP NITPI NN

AN 7730 NIINND NN DRI ATXTZIXNT, NI AN TN N7W NINAXD DN ,EI"7U|7"_'I NN N2INN INNNW 733

NT90 W1 - AXI17IN

,MJINNA 2NN O'KXNIA 0770790 190N NK NKLIN ATI7IT) AWYNT N1 JITA XD 0770779 127 ATI710 1 wpn
' TX2 190NA1, 2NN 07707797 190N K1 7XNW TX2 190NN 21WN 1T0N) .AJINNA N1 O'KXNIA 070790 19001
.(h21ma o'70p'on 190N KN

TO NWYI IXIA TX
0'70p'0 7K 900 -3 = 1280 * 720 nnnx 0'7'n2 1X 720P ma'x x'n HD nio'x
017090 ['7'n 2 = 077070 nan = MP 2 -3 = 1920 * 1080 ninx 077'n2 1x 1080P mia'x x'n Full = HD mia'x



(n1m1v1) CONTRAST

VX NINTXNN N AN NP TN 0N 127\ INW NINTXN1 .07 000 A0 I3 P2 on)

(LUX) op17

Ix = Im/m2 "ix quw? nTn NN

LUX n17'n"a NITTAI NN0AX NINT7XNA 1IXD NIWI
.07X7 773 NIMX NN7XNN X NNI MKNN 1T AT
.X7n nn X nind - 1LUX

07NN JWIN2 07X7 n7110n nn7xn LUX0

S Ry
S aa 3 Y
nowy 25 - T
oian 2
| Tnanun
yann

T

L= nunINAR e pnan -

(IR) MITX-X19I'X

IN TN UW M NN 077720 O0YIW - 00T 0'N7P N071P MWD 017X X109 1P 7TWN DNK DTN WD 23710
JNTWNN 0™1pn 190m

.O0'NINY O'NOVW71 NININ,NNXN7 IX INK [P DTV D170 1900 7V NJan7 NIIXN AJpnn7 uim

NINT 12 O'NNY 190N 7V 1a07 713 nn

N9'pVU7 [N 1371 0711 .NDI X717 ONA 'ONT 1P7 1J1N0'N



NWTYA 7712 210N

F=C*D/W

UPMIKD 7 ANT7YXNN A pnnn =D
0PN AN = W, 0pmainn a1 = H
(nwTvn) TR UK = F

Cyww

laking
1/3" nwTva wnnwi

upmxnn pmn D=20

q0n 8 v AN - W=8

C=48

F=C*D/W - 12=4.8*20/8

12m"m 77112 WY 70X AT pna

NWTY [1AWNn

D = pjpma? ann
H = pjrmaxn ana
W = vk ann

5 Y
V1

F-NO

TN 7W DN 7U191 NIXIW NIAIN NN DK XA AT 1900 F RINT Y00 91WY 1900 n7¥N0 01901 N7 107
N1 AT NN I1ANN 13 AT 103 F-0 1900w 733 nWTYN 019 1727 Tpinn
F#1.4 1 F#1.2 71pnn 2100 onn

F=f/A : xn 21wn7 nnonn

(mrm)F-noon=F ¢
Tpmn K =f +
NWTYN W 'Wwnn g = A -




:a-n Image area represanted on screen with lens (H X W) wog i meaws wem woarar
from 3.6mm 6mm Smm 12mm 25mm
Comens 1 wowny wghe 4° esrg argle 11 vewng engle K wewrg ingle 10 vewerg angle
5m
AmxS5Sm 2Imx37m
No—
10m | h' )
fmx1im 5.5m x7.46m 13mx 1.7m
(]
20m - (=) b
Temx2Im 1Tmx15m Bmx1im SmxTm 2.6mx ) Am

IS rr

ISy




e6m™"m




